Model 0777 Electronic Highway Crossing Bell

21 12 17,18

13, 14, 15

WESTERN-CULLEN-HAYES, INC.

6/01 2700 W. 36TH PLACE CHICAGO. IL. 60632
(773) 254-9600 FAX (773) 254-1110



Model 0777 Parts List
Reference Description Part No.
1 Electronic Bell Housing 1300
2 5/16"-18 x 1-1/4" Set Screw DD-24-GG-3-0125
3 1/4"-20 x 1" Fillister Head Screw BB-16-EE-3-01
4 Pinnacle 110-A-16
5 Speaker Mounting Plate 1300-5
6 10-32 x 5/8" Round Head Machine Screw AA-10-DD-3-0062
7 #10 Lockwasher RR-00-AH-3
8 #10-32 Hex Nut 11-12-DD-3
9 1/4"-20 Hex Nut JJ-12-EE-3
10 Mounting Plate Support 1300-9
11 Speaker 1300-6
12 Bell Circuit Board 1300-8
13 6-32 x 1" Round Head Machine Screw AA-10-AA-3-01
14 #6-32 Hex Nut JJ-12-AA-3
15 #6 Lockwasher RR-00-AF-3
16 Spacer 39-0054-1
17 M6 x 25MM Hex Head Bolt 1300-7
18 1/4" Lockwasher RR-00-AJ-3
19 Terminal Strip 2507-2
20 Speaker Screen 1300-12
21 Pinnacle Gasket (20" long) 3590-258
22 Cable Assembly 1300-14
23 5/16"-18 x 5/8" Hex Head Bolt BB-12-GG-3-0062
24 AAR Washer 10708
25 AAR Clamp Nut 10707
26 White Marking Tag 16222-W
27 Binding Nut 10706

6/01

WESTERN-CULLEN-HAYES, INC.

2700 W. 36TH PLACE
(773) 254-9600

CHICAGO. IL. 60632

FAX (773) 254-1110




	Model 0777 Reference Diagram
	Parts List




